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¥Eear: Show all your work for full credif >+

1} Use a calculator to find each trigonometric ratio to four decimal places:

a) sin 27° 30"45" b) cot23.4° 2 2] @C?
1 = &
= D4 619 b (2342)
¢)sec34.23° d) tan 32° 45'25"
= = 2645 = b2
(ot (35:2%) - T2

2) Find each acute angle 8 to the accuracy indicated. Y

8) (
a)tan @ = 3.24 (to the nearest minutes). B = 72 50 > |

b) sect = 1.45 (to two decimal places).
o= (o (rge ] = bbge®
¢) cscf = 2.325 (to the nearest seconds). o | P
6= 5 [553e) = 25 2& 2&
3) A large airplane (plane A) flying at 40,000 fi sights a smaller plane (plane B)

travelling at an altitnde of 35,000 ft. The angle of depression is 40° . What is the line-of —
sight distance between the two planes?
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